# KENTUCKY TRANSPORTATION CABINET

lpa-DOH-chgord Mod 07/2/10

		CHANGE ORDER		1	L		
Page		CHAIGE OIDER	•				
Contract ID			Project Sponsor		LFUCG		
Change Order No #3			County				
Contractor L-M Asphalt Partners (dba ATS Construction)			Project Number		TGR 3003 (341)		
Contracto			Project Name		Town Branch Tra	il Phase 6	
Address		3009 Atkinson Ave. Lexington Ky 40509					
		Proposed Changes in Connection with Contract I.	tems:				
Item	Bid						
No.	Item#	Description	Quantity	Unit	Unit Price	Amount	
68	714	FENCE 3.5 FT CHAIN LINK	-351.000	LF	85.00	-29,835.00	
						A 79	
	-					**	
		<u> </u>		To	tal for this Page	-29,835.00	
			Tot		nuation Page(s)	320,153.01	
			101	-	Contract Items	290,318.01	
		Proposed Items of Supplemental Agreement:		1014	Comraci fiems	- 270,010,01	
Ref.	Bid	Troposcu Items of Empfremental rigitement.					
No.	Item#	Description	Quantity	Unit	Unit Price	Amount	
		See page 2.		-			
				4 4			
	-						
Time Ex	tension/	Explanation:		To	tal for this Page		
			Total		nuation Page(s)		
NO au	ditional	days		-	ental Agreement		
				••			
				Total In	crease Amount	\$ 290,318.01	
Reasons	for Prop	oosed Changes:					
The	hange	order is for the following:			1200		
	_	an underground storage tank that was uncovere	d during constru	ıction			
		lonal fencing and bollards to prevent parking an	_		e fencina tyne du	e to product	
	ability.	ional reneing and bonards to prevent parking an	d dillame gione c	i Bili. Nepide	c renemb type an	t to product	
1		amenities (benches, trash cans, lighting, and a b	ika ranair station	<b>5</b> 1			
-Auu	III Claii	anienines (Denenes, Clasificalis, Ilgining, and a D	ike repair station	1).			
	_				1-1-		
			Requested	7/2	1 m	1/2/01	
			Kequestea	Owner	. // /	DAT	
				1,1	111.4	10 -7 -7 .	
		Fransportation Cabinet, the undersigned contractor agrees to lined herein and to accept as payment in full the basis of	Requested	Project Engineer	eur p	12-3-41 DAT	
		forth herein.		1/10	1.00	2/14/22	
	1 1		Recommended	Chief District Eagl		SE/141SE DAT	
		7 1 1		1	1	1 17	
		who I Marla P	Recommended	Deputy Spany High	T.	2 -17.22	
			- 9	115.	1 11	1/3/20	
		Contractor	Approved		100	- 40124	
By:		Rodney Martin	-	LPA Signature Aut		DAT	
Director of					of Project	Management	
		12/10/21		Title	0 11:	J DAT	
		Date	Approved		Ballinger	2/17/22	
				Mate Highway Eng	ineet	DAT	

# KENTUCKY TRANSPORTATION CABINET

Local Public Agency (Department of Highways Funding)
CHANGE ORDER

Page

Contract ID

Change Order No

Contractor

Contractor Address #3

L-M Asphalt Partners (dba ATS Construction)

Project Sponsor

County

Project Number Project Name LFUCG

Fayette

TGR 3003 (341) Town Branch Trail I

3009 Atkinson Ave. Lexington Ky 40509

Item No.	Bid Item#	Description	Quantity	Unit	Unit Price	Amount
140.		UNDERGROUND STORAGE TANK REN	1.000	LS	109,469.52	109,469.52
		4-PLANK WOOD FENCE	1,375.000	LF	57.75	79,406.2
		PARK BENCHES	2.000	EA	3,000.00	6,000.00
		TRASH & RECYCLING CANS	5.000	EA	1,000.00	5,000.0
		BIKE REPAIR STATION	1.000	EA	7,000.00	7,000.0
		SOLAR LIGHTING ASSEMBLY	12.000	EA	9,039.77	108,477.2
		BOLLARDS	3.000	EA	1,600.00	4,800.0
		BOLLARDS	3.000		1,000.00	4,000.0
		<u> </u>			196	
						<del></del>
	de la					
				_		
					1	
				-		
				Tota	ol for this Page	320,153.0

Reasor	ns for Proposed Change	BS:			
Γ			·····		
1					
1					
Í					



# Wester, Paula M (KYTC-D07)

From:

Baker, Kelly A (KYTC-D07)

Sent:

Wednesday, February 9, 2022 7:44 AM

To:

Tucker, Shane S (KYTC-D07); Oatman, Susan B (KYTC); Wester, Paula M (KYTC-D07)

**Subject:** 

Fwd: TBT6 Change Order#3

**Attachments:** 

TBT6\_CO3 TIGER LFUCG signed co form.pdf; 2021-5-17 Parking Lot Exhibit Solar

Fixtures.pdf; 2021-11-18 TBT 6 Fencing and Bollard Diagram.pdf

\*\*CAUTION\*\* PDF attachments may contain links to malicious sites. Please contact the COT Service Desk ServiceCorrespondence@ky.gov for any assistance.

Shane,

I approve.

Paula,

Could you please print out the change order for my signature. Thanks.

Kelly

### **Get Outlook for iOS**

From: Tucker, Shane S (KYTC-D07) <Shane.Tucker@ky.gov>

Sent: Tuesday, February 8, 2022 4:19:18 PM

To: Baker, Kelly A (KYTC-D07) < Kelly A. Baker@ky.gov> Cc: Oatman, Susan B (KYTC) < Susan. Oatman@ky.gov>

Subject: FW: TBT6 Change Order#3

\*\*CAUTION\*\* PDF attachments may contain links to malicious sites. Please contact the COT Service Desk ServiceCorrespondence@ky.gov for any assistance.

Kelly,

Please see the attached. I recommend approval. The project had funds remaining in the ROW Phase that they utilized to fund this Change Order. Once you sign, can you please send back to me for further processing. Thanks.

**Shane** 

Shane Tucker
Project Manager
Planning Section
KYTC Department of Highways, District Seven
502-564-2360 - Office